@ 4m = 400 cm @ 70000 cm? = 7m?
@12 m? = 12000 cm? @ 480000 cm? = 48 m?

® 630000 cm? = 63 m?

® 12m? = 120000 cm?
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D)0.3km? @ 0.3ha ® 300a

@ 3000m? ® 3ha
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@ 0.3km? = 30ha

® 300a = 3ha

@ 3000m? = 30a = 0.3ha
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@)350kg+4.7 1= 820kg

® 570000g + 0.043t = 613 kg

@ 5kg°] 100081 5t JYct.

® 420kg 2] 100 HiE 42t YUYt

@350kg + 4.7t = 350kg + 4700 kg = 5050 kg
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167.2 4 39.6 = 206.8( kg),
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206.8 + 5 = 41.36(kg)
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@ 14008

5600 + 3500 + 4900 + 2800 + 4300 + 1400 = 22500 ' ©] 1,
St ok Wt Q1L £ 22500 = 6 = 3750 YUtk
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AE om2=2m

AR BA=14-11=3m

Wol = (164+2)x14+2+11x3+2
= 142.5 m?

= 1425000 ¢cm?
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Y=(E 2] PAF)x1.5 =4 x 1.5 = 6(+t)

V=& AAE)%0.8 = 6 x 0.8 = 4.8(t)
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